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Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
| for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
SO IS e i

(a) Mention one need for studying
economics.

. SR SR b1 eraTEARel TeE 4 |

(b) Define market economy.

o] LS Hgerr e 1
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(c)

(d)

(e) Define an inferior good.
g8 A ee fra |

() What is income consumption curve?
w1 Tegste @ R 2

(g) Distinguish between short run and long
run with the help of fixed and variable
costs. ‘ ‘
feq e ARSI RE LITR AITS FTIA
o TR e o F ‘

(h) What is producer’s surplus?

Tesmea Bge 2 ’
' .

() “Supply curve is not relevant for
monopoly.” Why? ‘
RO TS @O (@I APl [
R
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(2)

What is elastic demand?
e vftm &2

Draw the perfectly inelastic supply curve.
ol SfEFF o T e F

( Continued )
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2. Answer the following questions briefly : 2x5=10

(@)

(b)

()

(d)

22A/428

(3)

Why is the average fixed cost curve
rectangular hyperbola?

e %1 I @ITE Ry SR +[AyS T2

WWWW:

Distinguish between positive economics
and normative economics.

Fffefor S@fe e A wLRifer Tws
1efy ey F41 1

State two exceptions of the law of
demand.

g RfeR 751 fewy Seme T4

Distinguish between ‘change in demand’
and ‘change in quantity demanded’.

‘SifEmR RaEH e SRR AR AReEA’T
or® N fFefg 341 1

Prove that two indifference curves do not
intersect each other.

o T @ GO FRrE (TR IO (e
TRICA |
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(4)

(e) Why is the long-run average cost curve
‘U’ shaped?

TR e I @R U e e =2

3. Answer any four of the following questions :
5x4=20

Wm«ﬁmwﬁm@mﬁm:

(a) What is budget line? Why does the
budget line slope downwards?

Wm%vm@mm‘wc&ﬁm
Ll

(b) Distinguish between normal goods,
substitute goods and complementary
goods.

Frefde ANE, Rew TR e AReEe TRER
qES ofiefy efy 341 |

(c) What is monopoly? Explain why the
marginal revenue curve of a monopoly
lies below its average revenue curve.

GFCHToaT IHRT e A | GITsba e aife
E (@9 AT SN @R S SEEE A,
T F90
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(d) Explain the behaviour of profit
maximizing firms with the help of
marginal revenue and marginal cost
approach.

AT N WE A WA YRR AYTS q1S
I 11 AfSHWI =6 I FA

(e) Explain that substitution effect is always
negative.

17 9 (@ ARSTE R T oS |

() Derive demand curve for a Giffen good.

fce STNAR oIt ({1 @S WIEgd 9 T,
foram

4. Answer the following questions : 10x4=40
w2 Ted i

(a) Explain how the price system allocates
resources. 10
w4 IWER @A T WRADA R, WA
Fq 1

Or / 9%ql

What are the main problems of an

economy? How does a free economy solve
them? 3+7=10

ST 3 TR B R0 e wdarde
TR 2 TN (FEATCI T FCI 2
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(6)

(b) What is price elasticity of demand? What

are its determinants? Discuss. 3+7=10

s v ffErRe R WA AT
& 9 SaST ¥4

Or / &%t

Explain the concept of marginal rate of
substitution with the help of diagram.
Why does marginal rate of substitution

diminish? 6+4=10

T . F
791 | At afeesR T o9 TP = 2

(c) Explain the determination of wages
under competitive labour market. v

AfSETORET MR &S Tg{ Wefee efem

G 40
Or / <11

Derive input demand curves. Discuss the
factors responsible for shift in input

demand curves. 6+4=10

Toms SR R Peeife Y 0 | e
oA (¥ FEIERE (AR PRETR WIS
el
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(7)

(d) What is price rationing? Analyze the

impact of price rationing on the market.

2+8=10
Wqﬁwﬂﬁquﬂwqwmemw
o[ e Reswe 41 |
Or/ a3

Discuss the factors responsible for shift
in the demand and supply curves. 5+5=10

SR ST QTR (I TS (RA TR
AL 34T |
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